Ratio to ATLAS

900 GeV pp _ pndgrlying Event

T I L B A BN BN B [ 9
c
4N s . : ]

1 > INe> density wrtg of leading track(in| < 2.5, p, > 0.5 GeV, p_>2 Givé
| m ATLAS e
| --3-- Herwig 7.2.0 default Hs)

1 |— —&— Pythia 8.176 default _o‘—r')
— ¢ Sherpa 2.1.0 default —%

>

B B[4

0.8 — ]

0.6 |- mad |5
AN o L st &
- N ' A O
- . _— mEzEEen =

EBE aa® 2

0.4 — = —2
B 1.5
— -

(&)
s e

0.2 — — 3

— — 4

15

o

| (&)

a) | | | | | | | | | ' | | | | | | | E
:l T T T T | T T T T | T T T T | :

2 =2
1 :"'"0"""‘""""‘"&"’0-9'-0*0-0-0-*. 4040000 -

0.5 —0.5

left|gright| (w.r.t. leading track) [rad]



	Contents
	Page 1


